Year 4 Summer 2
Name: Problem solving and reasoning

Class: Date:

n Zebra Class raised £385 in the sponsored walk.
Tiger Class raised £510.
How much more did Tiger Class raise?

Show
your

method
: @

B a) Which of these numbers divide into 24 without a remainder.

4 8 10 13 15

b) Circle the numbers that are multiples of 8.

4 28 32 46 56 Q

ALWAYS LEARNING PEARSON



If the length and width of this
rectangle were doubled, what
would be its area?

Abbey Primary has 372 pupils, Bishopsgate Primary
has 625 pupils and Copper Lane Primary has 494 pupils.
How many pupils attend the three schools altogether?




B The missing digits in each subtraction are I, 2, 3 and 4.
Write them in their correct positions.
Do not use a digit more than once in each subtraction.

a) b) 5

n Kylie has saved £8:27. She spends £3-56.
How much has she left?

Show

your
method

What are the coordinates of each of the vertices of the rectangle?

6 A A
5 A B

4 B
3

2 |8 € C
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n The triangle is translated Y

three squares to the right. 5
Draw the new position onto 4
the diagram to show this.

You can use tracing paper to help. 3
2
|
0

n Freddie eats % of a bar of chocolate on Monday,
% on Tuesday and the rest on Wednesday.
What fraction of the bar does he eat on Wednesday?

Show

your
method




m The pictogram shows the amount of rain on five school days.

monday | GO G

Tuesday @

Wednesday @ @ @ @ 5

Thursday @ @ @ <

Friday @ @

a) On which day did it rain the most?

B sme

b) Which day had 16 mm of rain?

c¢) How many millimetres of rain fell on Friday?

d) How many more millimetres fell on Monday
than Tuesday?

“ True or false? Mark with a tick () or a cross (%).

a) 04 x 10 = 0-40

b) 3-76 x 100 = 376

c) 251 +10 = 2510

d) 42 +100 = 42




m The following table shows the temperature at different
times of the day.

Time Temperature
8 am 3°C
10 am 7°C
12 noon 1I°C
2 pm 15°C
4 pm 16°C
6 pm 12°C

Use the information in the table to draw a line graph
showing how the temperature changed during the day.
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m Jollie Oliver’s café buys eggs in boxes of 12.
How many eggs are there in 23 boxes?

Show

your
method

Fill in the missing numbers in this grid method calculation
and find the answer to 32 x 24.

x 20 4

30

m Peter wants to buy a computer game costing £72.
So far he has saved % of that. How much more does he need?

Show

your
method
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